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Candidates are required o guy their answers in their own words as far
as practicable.

Rgure in the margin indicate Rl marks,
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Group A

Answer TWO questions. 2x12=24
1. What is searching? What are its npes? Explain any two informed

search techniques with suitahle example. Q) 2+2+8
2. What is natural language processing? Discuss different steps in
natural language processing. 3+9
3. / What are agents in Al? State and explain any ™o types of agents
with suitable example and diagram. 2D 349

Group B
Answer SEVEN questions. 7x8=56

What is AI? Explain various applicaton of Al in real ﬁeld.fﬁ 2+6

Solve the following crypro-arithmetic problem, where different

-

i

\5./ What is learning? Explain explanation based leaming. (\g 2+6
S—

6.

—

letter denote ditferent integer and idendcal letters denote same
integer SEND+MORE=MONEY. Show all steps how you,advance
() 8
What are the problem of Min-Max searching in game playing and
how alpha-beta pruning technique is used to optimize it?
Explain with example 8

through Constraint S"-.:is:ac:io.:‘..

N

-

8.  Express the followings in to first oerder predicate logic (FOPL). 8

(a) John likes all kind of food.
(b) Apple and chicken are foods.
(c) Anything anyone eats and isn't Xilled by is food.

(d) Sue eats every thing that Bill eats.
(e) Bill eats peanuts and is still ahive,

Contd. ...




(2) ¥
Use resolution to answer the question "docs John like peanuts?

What is a back propagation? Explain all the steps involved in the

9 , "
7 back propagation with suitable examples. (Q) © 246
10. _ What is expert system? Explain application and development of
et /%) 2+6
cxpert system. =
11.  Write short notes on any TWO: . 4+4
. "‘) )
_{a) Bayesian network r.
(b) Gamc playing )

/(c) Genetic algorithm

3
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Group A
Answer TWO questions. 2x12=24

-
i

. .
1, What is searchin

U(]

> What are its ypes? Explain in detail about
any two informed ses.rch techniques with suitable example.

2.  Explain how brain works. What is Neural Network? How does it
differ from Expert S 'ste:n"
3. State and explain the pypes of agents. Can we build an intelligent

ggent without learnin

earning element? Justify your answer.

Group B
Answer SEVEN questions.

7x8=56
2. Explain about semantic network and frames with suitable
examples.
)
[_5,’ Define an expert system. Differentiate between forward and
>

backward chaining.

Y Solve the following crypto-arithmetic problem, where different
\ letter denote different integer and identical letters denote same
integer SEND+MORE=MONEY. Show all steps how you advance

through Constraint Satsfacton.

Define genetic algorithm. Explain different steps of genetic
algorithm in brief.
Q(‘

Define a multi layer neural network. Explain back propagat
algorithm for training the multilayer neural network along 'fﬂth

an example. \ﬁg,
(
N
N

\G}

S Contd. ...
Q




— -
L
(2) :

9. /) Differentiate natural language processing (NLP) with machine

translation (MT). How does parse tree help in NLP, explain “.’ith
suitable example. |

% '
/ 10. What are the problem of Min-Max searching in game playing and
! how alpha-beta pruning technique is used to optimize it?

! @ What is Al? How is it different from natural intelligence? Support
i — with example

| @ Write short notes on any TWO:
- (@) MYCIN .

(b) Production Rules system
(c) Hopfield Network
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Candidates are required to giee their answers inc their own wmd.', a5 frl_r

as prachicable

Praure i the margin indweate full inarks.

Group_ A

Answer TWO questions. 2212=24

What are Expert Systems? With a neat diagram of an f'rprrt.

1.
system, explam the necessary steps to develop it. 349
2 State inference theorems with relevant examples. Des scribe

Bavesian network. 8+4

3 Convert the following sentences into FOPL: 62=12
ia) All people who are not poor and are smart arc happy.
(b) Those people who read are not stupid.
(c) Nobody bhkes taxes.
(d) Anyone who is lucky wins the lottery.
{¢) Therc are some people who exercise.
(f) Only healthy people can run fast.
Group B
Answer SEVEN questions. Tx8=56
4,7 Explain the types of agent environment.
5. What is means-ends analysis? Compare forward chaining and
backward chaining.
6;/ Explain the semantic net with example. Why is frame system

required?
(% Discues learning by analogy with example. Explain supervised v
unsupervised learmng.

Contd.
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8. Wwhat are the sieps = ¥
following sentence

“The train passed e

9. What is depth-hmites stnies

10.  What are the challempes o A7 Tusc
of Al
11. Wnrite short noics 75 2571 TR
(a) Back Propagatin
(L) MY CIN
(c) Game piaying

o en - — 1
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parse tree for the
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T nrti‘j_('_lf,l_lﬂggiﬁcucc (Vewr Courge) ArR i
C‘a”fi!dﬂh’\i are roc p ﬂ,m‘m&_-_ﬁ“'m—““""‘"‘"-‘-——-—-—-«--a
= > requred to give their s .
as practicable, give their answers in their oum words as far
Flgure in the margandicate full marks. - ferr
A Group A
nswer TWC . | .
8 U questions, 2412224
) Define artificial neural network and explain its network structure
in detail. 19
2(a) Whats reasonmg? Is it same as interencing? Give your logic. 4
(b)  Explain the importance of planning in Al. What are the types of .l
plannming? . :
3{a) Using truth table approach, show thai P—Q=9PVQ. 4 "_:.':
(b} Convert the following sentences into FOPL: 8
(1) Everyone dishkes lies. '
(1) People don't want to spend money.
(111} Evervone is younger than his father.
(iv) Some people like singing. :
Group B 4 ‘
W S~ 7x8=56 -

Answer SEVEN questions.
Explam syntactic and semantic analysis of NLP with example. 8

4.
r//

4 ; iscuss its types. 8
//5// Define agent program and dis P N \
. : ans-ends alysis? Compare forward-chaimng anc

6. . What 1s lnt.dI'lu'(.nda analy P .
P puclavard-chaining. - ; _
- g : analogy? Explain the working of genetic

vl / What i learmung by £l N
‘,/ algarithm. Ny -
r What are the merite and demernts of DFS? Considenng e

waak it i e PIFS. Show the
i - following greph, start from state A and execute DFS. Show the
pilowing g o S

G o
. - which modes are expanded. Y

srder in which mode = S
‘J!(l : Gﬁﬁﬁéa b Lol i -3 2
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What is kuowledpe acquisition? Explain knowledge elicitation

techmaques.

3+35

Using constraint sansfaction, show all the steps that how you

advance (o solve the following erypt arithmetic puzzle. Also

mention all the azsumptions that you malke:

SEND

+ MORE

= Money

Write short notes on any TWO:
(a) Goals in Al

(b) Rack Propagation

froane system

.
1\y

e

4+4
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Group A:
Answ
er TWQ questione, 2¢12=24
o WVihat i 13 K o~ T 3
Hal What s line detection? Diveuss. G g
R . . . , . -
{(b) Correcdy label cach line of the given drawings 2+3
e -
~, ’/ \
\.\ \f \,
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2{a) What is an expert system? What are the wvarious arcias o
el - i o
“  applicauon of expert systems? 2-4
- T ') =, -
(b} -Briefly describe the main components of expert S):sulms -
- ) e o Dol
3¢a) AWhat is 2 mulu-layer perceptron? Give its structure. Z
‘ﬁ-"" . ‘:-'
() Briefly describe Khonen network. )
Group B:
. T8=86
Answer SEVEN questions. R
3. -
a_- Whatis baclavard chaining? Discuss
e’ Y = -,-'k ) ':.
o ;‘J!""tl iz mean-ends analysis? Describe. _ &
wte " . DTS STy 1
e R ural  intelligence and  arideial
“ Distinguish ~ between  natura & . R
Citelligence. ' -
i E " < et -seribwe u with 31\( ln i ed w’“‘&‘v_;
e Whnt is @ sema rlf!‘ network? Descril P e g
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Ropresent the following seotences i predicate calou

(i) All Romans were etther lovad to Caeear of nated him.

i) All pompatans were Romans

Describe case-based renuoning in detaal.

' . . . B P R
Exploan the workig principle of o genetic alponithin

of a sample example.

Deseribe the Balizmann machine in detal,
Wiite short notes on any TWO-

(a) Madaline

D} Frames

(ol Knowledge representation

-
-
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Group A:
Answer TWQO

questions, 2112=24
he Solve the following, erypt anthmetic puzzle where different letters
denote ditferent infepers. State all the assumptions you make
and show all the steps how you ndvance through constraint
sausfaction.
LONG apd oy
4 LIVE (G
”l PAL
2{a) What is an expert system? Discuss its advantages. 5.

(b} What is a scmantic net? Explain the significance of frame

F
systems. B

2{a) Define machine learning. What are its types? Explain any two

learning methods. 2

(b) What is back propagation? Explain. };_-,
Group B:

Answer SEVEN questions. 2 ¥ R=56

4 Convert the following English sentences into FOPL: 4xD =8

S
&

(a) Farmers like raining
 (b) All snakes are polsonous
{(¢) Bludents cither study regular or during exam

(d) Everyone soves moncy.
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What s knowledge acquisition? Explain knowledge elicitayy -
‘.

technugues 2467

Dizcuss means-end analysis, Also explain MYCIN systemn and its

apphcaions, 3+5 ke
Definte natural langunpge processing. Construct a parse trec for
the {fellowmye sentence. 246
“Tun goes for moming walk every morning”.
Whiat 15 reasoning? How  dees Bayesian network deal with
uncertunty? FExplain. 2+6
A o N . . i
Define Hopfield network and ite charactenstcs. Explain how 1t 5
4+4 :

works.

What is best-first search? Why 1s it considered as a heuristic

search? Explam. 4+4

V/rite short notes on any TWO: .2::4=:8

{
2} Reference rule
(b) Genetic algorithm

{c] Inteiligent agent

gy,
-

3




